HEEHRERCBE/MI2BEEE2

SPHITER

(B11252A158EFE11246A308 1)

£_I_

= B2 #EH #£ =

E£18 |12

13

14

15

16

18]

2/ 16R B e R AN2/1 718 L 5k . iR 1% FR BB IA
MSSR&ICRTRf#S . 2/15~17h/NESHER K L E

]_]]I\J

F2 Bho

20

21

22

23

24

2

N

21218 =R &+ EBm £5R
222 & R B
2/23 3 B R 55 72 (e L 8:30B74R)

£33 e

27

28

29

=X & H2/28%F L F X0900-1200
MIBFEEHFERREREZT09308IEH=E
2/29-3/1 N FEREBEERLT

1

(=]

|3/6-8%2 £5 4 52 B FI| 4%

Jn w

$5 B

12

13

16

17

B E B EnREERR(3/11)
NTERREWIG, %Fﬁ nEERA

ERE] T

19

20

24

3/18-3/29%R A EI & %

3/18-3/29tx W BEE

7 385 (26 [27 |28 293031 3/25ch B E/ﬁ?/ﬂ(ttg

sssah b kL Ls | | [PFFEESUESF1030-1110, 42 R B Hi R B
412(Z) Lo = FE R e il

FEOE8 (o |10 |11 [12]13 |4/8TE 0 K SR A2 B B

:|_]]-l>

£10:8 |15

16

17

20

2

[

4/16~4/198Arh & BA1E 8 N BRI =

23

24

27

28]

4[24 5K SR BB (E). 4/26. 4/127E/NE £ IR R E
4/25-4/29B8 /M HE #R E R E

30

4/30FN B 3] R 52 2 3 1M1%21120-1200

= F F PR EE 72 5/6 2 £ 0800-0840(F 12%)

gl%mﬂm B e =0 B P EE A2 5/7(ENEE%4)1120-1200
14 |13 |14 |15 |16 17[18]19] gﬂfé%kgg;l’%%%”?
%’155@ 20 |21 |22 |23 242 26 5/22;%;:7-](5 BEEIT&..__;X(EEE) .
5 715/25%88 B . £ KEKE D GA/NEANE)25
o /308 M1t B &% — R EE
1638|2728 |29 [30]31]1 |2

5/30=., AFRBEBERENEA

178

4

5

6

6/4~6/6EEE 6//FEEHMIK

£1858 o

hiife))

11

12

13

BINMEREEEFFHREETH

T6/13mmEsts

E£19:8 17

18

19

20

6/18f EEEHE 2. 6/20~6/21HFKEH

2038 |24

25

26

27

K 628112 E = 2= BT

6242 BHBHEER. 626 A=REHERE —RER
6/2817|<¥‘ts n%TﬁﬂI%iBE

ERFARIRBRAER= 'F4F1410 1450, &Eﬁvﬁ?ﬂhﬁ%ﬁ%&ﬁnﬁzo

1



